
Zestaw 5  

1. a) Zamień na centymetry: 6mm = . . . . . . . , 1 cm 9mm = . . . . . . .  

b) Zamień na dekagramy: 8 g = . . . . . . . , 3 dag 6 g = . . . . . . . 

2. Uzupełnij:  

a) 0,5cm = . . . . . . . . . . . . . mm          0,2m = . . . . . . . . . . . . . cm              2345m = . . . . . . . . . . . . . . . km 

b) 4g = . . . . . . . . . . . . . dag                2,6kg = . . . . . . . . . . . . . dag                3t 48 kg = . . . . . . . . . . . . . . . t       

3. Wpisz odpowiednie liczby:  

a) 32,7 dag = . . . . . . . . . . dag . . . . . . . . . . g  

b) 10 km 285m = . . . . . . . . . . . . . . . . . km  

4. Uzupełnij: 

 a) 5,03m = . . . . . . . m . . . . . . . cm                                                                b) 8,35 t = . . . . . . . t . . . . . . . kg  

c) 9,27 kg = . . . . . . . kg . . . . . . . dag                                                      d) 2,063 km = . . . . . . . km . . . . . . . m 

 

https://www.youtube.com/watch?v=FLYAlDe229o 

https://www.youtube.com/watch?v=38eizON3FOg 

https://www.youtube.com/watch?v=c8fXfmPJRSE 

https://www.youtube.com/watch?v=_KwrWN0ZToM 
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